Oirenal SER YIRS QQ 1019057849

Y -BEBERKEE (v-GT) KFZAPH
e

3% 100T/96S

T OB IERNE AT 2-3 AT ZE R ORI R A TN

MEBX :

y-GT & y- A BRIEI P ¥ S RE, i1k GSH F&f#. v-GT 16 GSH i Hofth y- & B AL &1 B y-23
TIILHEA P52 1A thr] LUELL GSH AHAL y- B & B SRR, P AR 2R, R4S DEH Ak
BRRAR R T R AEA .

MEFE:
v-GT @Pcfé\rfkﬂftxﬂéﬁzxﬂﬂﬂ V-BEREETES N-HE B H R, AR HEEIE N, 18 405nm A RHEE
Wies JEITISE 405nm YEIR OB g2, SRt & y-GT Bt

A& /MR-
IR 0L K FTETTRRAS AT e EETH/BE AR SR B L m/96 FLA. ANZEIRK

A FAIZE R FNEC 1 «

R Witk 100mLx1 #, 4°CLEAEF.

WA MFx1 I, 4°CIRAF .

RAN=: A dmLx1 i, 4°CIRAT-

WAIPY: Wifh 14.8mLx1 Hil, 4°CHRAES

TAEM EBRGR P ECH)D) - IR A ATECH], JERA = FGKH o, v iE (iR T L 40°C
KRBV s SRS TR BN R i, TR A S iR IR A

%ﬂﬂﬁ;‘ﬁ#&ﬂx-

1 A4 HBALFE (g) « WA mL)A 1: 5~10 FIEH] CEBFREZ 0.1g 4144, A ImL
=) AT I . 8000g, 4°CE Ly 15min, HU EiE, BEIK LA

2. 4. AE: HERARSeE ot o BWF A (mL) A 500~1000: 1 BIECET CGE2X 500 540
TN ImL AR —), KIS P (33 300w, #8745 38, WG 7 #, BB 3min); A5
8000g, 4°C, B 15min, B L& & T ok B4R,
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v-GT JEHRIE:

1. 230600 /EEARA TR 30min, K F) 405 nm, ZEEKIHE.

2. WA ZE T 25°C (—BF 8 37°C UL K T 30min (FAETEDTIE) »

3. W BRSO L (I Eg, 96 FLAR, KK 20uL 1-iEl, 180uL TAEM, JRBEIE T 405nm 5 10s
H170s WIROGEE, o4 A1 F1 A2,

Y-GT &t
FRUEHIZE: y=0.006x+0.0016, x AXTASEIRIIRIE, v ABOLE, R2=0.999.
afAMEREELNENHEARDT

(). EERARE T
EPERALE X 25°CaiE 37°Crp, RRW R AR P 4 1pmol X RHHEA ML 1 AN BEE F AL .

y-GT (pmol/min/mg prot) =[ (A2—A1)—0.0016]+0.006xV K&+ (CprxV £f) =T
~1.67 % [ (A2—A1)—0.0016] + Cpr

(2). HHEAETH
TETERALE X 25°CElE 37°CH, RESCREARE D BHEEAL 2L Tumol XTRHFEZRIZ Y 1 S A

v-GT (pmol/min/g ##FE) =[ (A2—A1)—0.0016]+0.006xV JZ H+(WxV FE+V BEE)=T
=1.67 x [ (A2—A1)—0.0016] +W

(3) &4 KR 5
IEPERALE S 25°CEE 37°CH, B 104N IHRE /> B AL 4 Tpumol X ARG 1 ANBEIE HAT .

v-GT (pmol/min/104 cell) =[ (A2—A1)—0.0016]-0.006xV S i ~(AAIHE <V BE+V BER)T
=1.67 x [ (A2—A1)—0.0016] 41 &

(4) LRI
TEPERALE X 25°CEiE 37°Crp, MR THRASE P 4 Tpmol XA HEAE NG 1 AN BEE P4

y-GT (pmol/min/mL) =[ (A2—A1)—0.0016]+0.006xV X &=V F=T
=1.67 x [ (A2—A1)—0.0016]

V s RNARREAER (L), 200uL=2x104L; Cpr: HHEKE (mg/ml); W : FESFE; VFE: KM
RRFIIN LFEHRAAR (mL), 20pL=0.02 mL; V A& REAR, 1mL; T: KMNAE (min), Imin.
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b.fEFH 96 FLARW % T E AR T
FRUERIZE: y=0.003x+0.0016, x AXTASEIRIIRIE, v ABOLE, R2=0.999.

(1. ERAREH
TEPERALE X 25°CEiE 37°Crp, MR R AR P 4 Tpumol XA HEA LN 1 AN BEE F AL .

y-GT (pmol/min/mg prot) =[ (A2—A1)—0.0016]+0.003xV K+ (CprxV £f) =T
=3.34x [ (A2—A1)—0.0016] = Cpr

(2). HHEAETH
TETERALE X 25°CEli 37°CH, RESCREARE D BREEAL 2L Tumol XTRHZEZRIZ Y 1 A AL

y-GT (umol/min/g #£E) =[ (A2—A1)—0.0016]+0.003xV K E+(WxV FE+V £EE)=T
=3.34 x [ (A2—A1)—0.0016] +W

(3) LYK 5
IEPERALE S 25°CEE 37°CH, B 104N IHRE /> B 4 Tpmol X ARG 1 ANBEIE HAT .

y-GT (umol/min/10* cell) =[ (A2—A1)—0.0016]+0.003xV S +(AH A EXV =V FE42)+T
=3.34 x [ (A2—A1)—0.0016] -4l fa &=

(4) LRI 5
TEPERALE X 25°CEiE 37°Crhy R THRASE D P 4 1umol X RHEEA LN 1 ANBEE F AL

y-GT (pmol/min/mL) = [ (A2—A1)—0.0016]+0.003xV S +V £=T
=3.34 x [ (A2—A1)—0.0016]

V R RN REERR (L), 200uL=2x104L; Cpr: FEHKE (mg/mL); W : FERFRE, g VFE: X
MR R I FIETAR (mL), 20uL=0.02 mL; V Ffi: REGRAER, 1mL; T: KMNETE (min),

Imin.

EEEL:

1. BEFRAufarh y-GT is RN g, 0% H 207 300 /5-500 J52 8], Zfgrh y-GT MHREN v i — 5

TIF B BB P AL B, AN 0 AR AL R A A (19 LR TR o 1 S A S B R D
2. MBI 2 HAMHEE.
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